Counts

Normalized signal

N
o

15

=
o

o
&

0.0

uld eso 104cm_2200nm

0.55 0.60 0.65

0.70

Hours from 1982 APR 22 01:00 UTC

uld eso 104cm_2200nm

_ Ring event

_ Sky level check

i

0.55 0.60 0.65

0.70

Hours from 1982 APR 22 01:00 UTC

Counts

6x10%

5x10%|

4x10*
3x10*
2x10%

1x10*

N
o

=
o

{
E
3

|

1

Normalized signal
=
(@)

o
&

0.0

uld eso 104cm_2200nm

==

0.85 0.90 0.95 1.00
Hours from 1982 APR 22 02:00 UTC

uld eso 104cm_2200nm

_ Ring event

_ Sky level check

0.85 0.90 0.95 1.00
Hours from 1982 APR 22 02:00 UTC



